
SAP ABAP table ROIJNOM_IO {Nomination OUTTAB Structure}

ROIJNOM_IO

NOMTYP [CHAR (4)]

BUSTYP [CHAR (4)]

NOMST [CHAR (1)]

NMSHTYPE [CHAR (4)]

STAGES_ID [CHAR (22)]

TSYST [CHAR (10)]

NMSHIPPER [CHAR (10)]

NMCARRIER [CHAR (10)]

NMWERK [CHAR (4)]

NMLGORT [CHAR (4)]

NMVEHICLE [CHAR (10)]

NMTPLST [CHAR (4)]

ROUTE [CHAR (6)]

VKTRA [CHAR (2)]

UNIT [UNIT (3)]

SHNUMH [CHAR (10)]

SITYP [CHAR (2)]

ISTAT [CHAR (1)]

ISUBSTAT [CHAR (1)]

LOCID [CHAR (10)]

S_MATNR_I [CHAR (18)]

MATNR_I  [CHAR (18)]

UNIT_I  [UNIT (3)]

IMPOEXPO [CHAR (10)]

FLAG_IMEX [CHAR (2)]

OWNER [CHAR (10)]

VALUATIONTYPE_O [CHAR (10)]

VALUATIONTYPE_D [CHAR (10)]

SHNUM [CHAR (10)]

SHITEM [NUMC (4)]

ACTUALUOM [UNIT (3)]

ITTOLUNIT [UNIT (3)]

PRORATE_ROUTINE [CHAR (6)]

CHARG_L [CHAR (10)]

LOCPT [CHAR (4)]

LOCSL [CHAR (4)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

INCO1 [CHAR (3)]

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 ROIJNOM_IO-IMPOEXPO = LFA1-LIFNR 

0..N

0..N

 ROIJNOM_IO-NMCARRIER = LFA1-LIFNR 0..N

0..N

 ROIJNOM_IO-NMSHIPPER = LFA1-LIFNR 

0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)] ROIJNOM_IO-S_MATNR_I = MARA-MATNR 0..N

0..N

OIGS

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

 ROIJNOM_IO-SHNUM = OIGS-SHNUMBER 
0..N

0..N

 ROIJNOM_IO-SHNUMH = OIGS-SHNUMBER 0..N

0..N

OIGSI

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

SHITEM [NUMC (4)]

 ROIJNOM_IO-SHITEM = OIGSI-SHITEM 

0..N

0..N

OIGV

CLIENT [CLNT (3)]

VEHICLE [CHAR (10)]

 ROIJNOM_IO-NMVEHICLE = OIGV-VEHICLE 

0..N

0..N

OIJIMEX

MANDT [CLNT (3)]

FLAG_IMEX [CHAR (2)]

 ROIJNOM_IO-FLAG_IMEX = OIJIMEX-FLAG_IMEX 

0..N

0..N

OIJLOC

MANDT [CLNT (3)]

LOCID [CHAR (10)]

 ROIJNOM_IO-LOCID = OIJLOC-LOCID 

0..N

0..N

OIJSTAT

MANDT [CLNT (3)]

TABNAME [CHAR (30)]

STATUS [CHAR (1)]

 ROIJNOM_IO-ISTAT = OIJSTAT-STATUS 

0..N

0..N

 ROIJNOM_IO-NOMST = OIJSTAT-STATUS 
0..N

0..N

OIJSUBSTAT

MANDT [CLNT (3)]

TABNAME [CHAR (30)]

STATUS [CHAR (1)]

SUBSTATUS [CHAR (1)]

 ROIJNOM_IO-ISUBSTAT = OIJSUBSTAT-SUBSTATUS 
0..N

0..N

OIJTS

MANDT [CLNT (3)]

TSYST [CHAR (10)]

 ROIJNOM_IO-TSYST = OIJTS-TSYST 

0..N

0..N

OIJTSMAT

MANDT [CLNT (3)]

TSYST [CHAR (10)]

PMATNR [CHAR (18)]

 ROIJNOM_IO-MATNR_I = OIJTSMAT-PMATNR 
0..N

0..N
OIRARNBT

MANDT [CLNT (3)]

RNBT [CHAR (4)]

 ROIJNOM_IO-BUSTYP = OIRARNBT-RNBT 

0..N

0..N

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 ROIJNOM_IO-LOCSL = T001L-LGORT 

0..N
0..N

 ROIJNOM_IO-NMLGORT = T001L-LGORT 
0..N0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 ROIJNOM_IO-LOCPT = T001W-WERKS 

0..N

0..N

 ROIJNOM_IO-NMWERK = T001W-WERKS 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ROIJNOM_IO-ACTUALUOM = T006-MSEHI 

0..N

0..N

 ROIJNOM_IO-ITTOLUNIT = T006-MSEHI 

0..N

0..N

 ROIJNOM_IO-UNIT_I = T006-MSEHI 
0..N

0..N

T149D

MANDT [CLNT (3)]

BWTAR [CHAR (10)]

 ROIJNOM_IO-OWNER = T149D-BWTAR 

0..N

0..N

 ROIJNOM_IO-VALUATIONTYPE_D = T149D-BWTAR 
0..N

0..N

 ROIJNOM_IO-VALUATIONTYPE_O = T149D-BWTAR 0..N
0..N

TINC

MANDT [CLNT (3)]

INCO1 [CHAR (3)]

 ROIJNOM_IO-INCO1 = TINC-INCO1 

0..N

{0,1}

TOIGS

CLIENT [CLNT (3)]

SHTYP [CHAR (4)]

 ROIJNOM_IO-NMSHTYPE = TOIGS-SHTYP 

0..N

0..N

TOIJNOMTYP

MANDT [CLNT (3)]

NOMTYP [CHAR (4)]

 ROIJNOM_IO-NOMTYP = TOIJNOMTYP-NOMTYP 

0..N

0..N

TOIJ_EL_PR_RT

PRORATE_ROUTINE [CHAR (6)]

 ROIJNOM_IO-PRORATE_ROUTINE = TOIJ_EL_PR_RT-PRORATE_ROUTINE 

0..N

0..N

TOIJ_EL_SITYPES

CLIENT [CLNT (3)]

SITYP [CHAR (2)]

 ROIJNOM_IO-SITYP = TOIJ_EL_SITYPES-SITYP 

0..N

0..N

TTDS

MANDT [CLNT (3)]

TPLST [CHAR (4)]

 ROIJNOM_IO-NMTPLST = TTDS-TPLST 

0..N

0..N

TVRO

MANDT [CLNT (3)]

ROUTE [CHAR (6)]

 ROIJNOM_IO-ROUTE = TVRO-ROUTE 

0..N

0..N

TVTR

MANDT [CLNT (3)]

VKTRA [CHAR (2)]

 ROIJNOM_IO-VKTRA = TVTR-VKTRA 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 ROIJNOM_IO-VBELN = VBUK-VBELN 

0..N

0..N

VBUP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 ROIJNOM_IO-POSNR = VBUP-POSNR 

0..N

0..N


